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YEAR: 1999
Two pipes A and B can fill a

tank in 20 minutes and 30 min-
utes respectively. If both pipes are
opened together, the time taken
to fill the tank is:

% TEY A 3R B TF &F # mEe: 20
firfe @R 30 fire § W w9 31 f% <A
Ry TH WY gie B S @ 3% w9
o fwam w9 rm?

(a) 50 minutes (b) 12 minutes

(c) 25 minutes (d) 15 minutes

1
It e of a tank holds 80 litres of

water, then the quantity of wa-

1
ter that E of tank holds 1s:

af el 3% % - W e T 3w 80
oiret it o7 2, @ IHS A W ER W
39 fean A smum?

(a) 240 litres (b) 120 litres

80
(c) -~ litres  (d) 100 litres

Three taps A, B and C ean fill
a tank in 12, 15 and 20 hours
respectively. If A is.open all the
time and B and C are opened
for one hour each alterna-
tively, the tank will be full in :
= 94 A, B 3w C 1% 73t & FAe:
12,15 3K 20 =2 § 90 gd 21 4f T
A 9 gl ® 91 B @R C wri-ard
T UH-UF ¥ & fag @er S n E, o
2%t foFad oo W w9 Si?

1
(a) 6 hours (b) 65 hours

1
(c) 7 hours (d) 7 5 hours
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YEAR : 2000

4. A pipe of diameter ‘d’ can

drain a certain water tank in
40 minutes. The time taken
by a pipe of diameter 2d’ for
doing the same job in :

% d =9 96 UEY # 8% & et
FH § 40 fre @ 2, d 2d =™
ATel U291 SF I Wil HE H e
T T

(a) 5 minutes (b) 10 minutes
(c) 20 minutes (d) 80 minutes

YEAR : 2001

5. A cistern can be filled with wa-

ter by a pipe in 5‘hours and it
can be emptied by a second pipe
in 4 hours.. If both the pipes
are opened when the cistern is
full, the timne in which it will
be emptied the cistern:

T 9EYT fHEl SH61 B 5 He W 9T TR
T @elt 1 ekl 1 Al 21 qolaen ol
T e i ZH e 1w wy =i e
W G 2w e we A wmett w1 S
(&) 9 hours (b) 18 hours

1
(c) 20 hours  (d) 205 hours

6. A pipe can fill a tank with wa-

ter in 3 hours. Due to a leak-

; ; 1
age in bottom, it takes 35

hours to fill it. In what time the

leak will empty the completely
filled tank?

% g9 Tl S W 39 W U W R
THEAI 21 TH A U D EH B HR, TR
%’fﬁS% 2 T 31 3% B B o T
o g 2F e g H @l 8 Snei?

Yii
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(@) 12 hours  (b) 21 hours

1 1
(c) 65 hours (d) 105 hours

YEAR: 2002
A and B

separately fill a cistern in 60

Two pipes can

minutes and 75 minutes
respectively. There 1s a third
pipe in the bottom of the cistern
to empty it. If all the three pipes
are simultaneously opened,
then the cistern is full in 50
minutes. In how much time
the third pipe alone can empty
the cistern?

=7 WET A 3R B Fem-sem fwE 2 w5
Fav: 60 fire @R 75 fime # s awd
E1 2 # aell o IHH welt W & fon
Frew g e w g At A4 aE
UF WY Gie 52 s d @6 50 e |
WO B STl TN 9T S eS F
et wwa W @t wm?

(@) 110 minutes (b) 100 minutes
(c) 120 minutes (d) 90 minutes

A tap can fill a tank in 6 hours.
After half the tank is filled,
three more similar taps are
opened. What is the total time
taken to fill the tank completely?
T Y R 3F #1 6 e | W wha
21 Tl 2F W F A%, T YER F 9
3R 7o Eie fed 9 &1 2R F QU 9
¥ go from W e

(a) 4 hrs

(b) 4 hrs 15 min.

(c) 3 hrs 15 min.

(d) 3 hrs 45 min.

www.spardha.guru



10.

1

12.

info@spardha.guru

One pipe can fill a tank three
times as fast as another pipe.
If together the two pipes can fill
the tank in 36 minutes, the
slower pipe alone will be able to
fill the tank in:

s gy ford 3 w1 9 ¥ g|t ugd i
A4 A T S ast @ o 21 A
=4 ey uE iy et ¥ = 36 e
¥ ougd §, T M U § R aren e
¥F 3 faa Tma §

(a) 81 minutes

(b) 108 minutes

(c) 144 minutes

(d) 192 minutes

YEAR: 2003

Two pipes can fill a cistern in 3
hours and 4 hours respectively
and a waste pipe can empty it in
2 hours. If all the three pipes are
kept open, then the cistern will
be filled in:

< TEY T ¥F H wH: 3 U AR 4
e H o wEY § ok uF frew T =
2 H Wl wuFa ¢ A d e
F1 TF W B g W A e

g H R Sm?
(a) S hours (b) 8 hours
(c) 10 hours (d) 12 hours

Two pipes can fill a tank in 15
hours and 20 hours respectively,
while the third pipes can empty
it in 30 hours. If all the pipes
are opened simultaneously, the
empty tank will be filled in:

5 iz frdl $ 1 HmHE: 15 =S g
2072 ¥ o gEd €, ¥ drwn e
30 =2 ¥ wreft Fxar &1 afx dift A
| TF WY @il e S et
F 9 H fHa gwa @

(a) 10 hours  (b) 12 hours

1
(c) 15 hours (d) 15 S hours

Two pipes A and B can fill a cis-

1
tern 1n 375 minutes and 45

minutes respectively. Both
pipes are opened, the cistern
will be filled just in half an
hour, if the pipe B is turned off
after?

13.

2

15.

1
o1 91z ferelt 2t 1 FHe: 375 e

e 45 fade | 9t wed 81 A S T
%1 widl f&@n wiar & df < @ S e
g2 0 a3 & fou B # fRa gma a@e
&< FA1 EAT?

(a) 15 minutes (b) 10 minutes
(c) S minutes (d) 9 minutes

YEAR : 2004

A cistern has two pipes. One
can fill it with water in 8 hours
and other can empty it in 5
hours. In how many hours will
the cistern be emptied if both
the pipes are opened together

3 ) )
when = of the cistern is already

filled with water ?
TF IH H T YT o F1 el URY

&1 8 5 W Ul | Wil ¥ A 98U Ry

552§ wrefl wy 81 g A W w

wma@aﬁmmﬁqﬁ--ﬂg L
T Wit g8 1 =i wmet w5 fEan g
wm?

1
(a) 135 hours™ (b) 10 hours

/7T 1
(c) 6 hours (d) 35 hours
i part of the tank is full of water.
When 30 litres of water is taken

out, the tank becomes empty.

The capacity of the tank is:

wé'?ﬁim% oI g 9 g €,

w4 394 4 30 ey ot fwe fon
9 € @ T owmet @ s 81 9% #+

I =)
(a) 36 litres (b) 42 litres
(c) 40 litres (d) 38 litres

A tank is fitted with two taps.
The first tap can fill the tank
completely in 45 minutes and
the second tap can empty the
full tank in one hour. If both
the taps are opened alternately
for one minute, then in how
many hours the empty tank will
be filled completely ?

16.

T N W A T E, Teol Tl ZH A
i 45 fige § s € iR R T
et & = | =2 welt Fa € At <
I F AR-A | Tw-us fae % fag
o feram @ enm?

(a) 2 hours 55 minutes

(b) 3 hours 40 minutes

(c) 4 hours 48 minutes

(d) 5 hours 53 minutes

A pipe can empty a tank in 40
minutes. A second pipe with di-
ametef:_.twice as much as that
of the first is also attached with
the 'tank to empty it. The two
pipe together can empty the

" tank in:

132

18.
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T "Ed fEEr Zw w40 e A
BTl F2a1 21 580 gy Fgat sy
TEd UEY & AT 8 SF B @l
F # fo e e s 31
Y UF WY TF F fhad wwg w
T H7?
(a) 8 minutes (b) 13% minutes
(c) 30 minutes (d) 38 minutes
Two pipes can fill a tank with
water in 15 and 12 hours re-
spectively and a third pipe can
empty it in 4 hours. If the pipes
be opened in order at 8, 9 and
11 a.m. respectively, the tank
will be emptied at
<1 wgy Rl % i urt @ 9§ waw:
1590 12 w02 % et § 9 Td € ael
T TIET 9129 39 31 hi 4 =02 | Eel!
F THA ¢ AR T AR B FA: e
83, 9Tt 3 11 &% @iell i 71 7@
& T @ @t @ smon?
(&) 11 : 40 a.m. (b) 12 : 40 p.m.
(¢)1:40 pm. (d)2:40 p.m.
YEAR: 2005
A pump can fill a tank with wa-

ter in 2 hours. Because of a
leak in the tank it was taking

1
25 hours to fill the tank. The

leak can drain all the water from

the tank in :

| 235
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wF 79 fRdt ¥ F ot 4 2 5 F v
1 3% w1 i FE T ﬁ'gé

e e R i g
o foFad w9a o wrel 8 sty
(a) 8 hours (b) 7 hours

1
(c) 45 hours (d) 14 hours

A tank can be filled by two pipes
in 20 minutes and 30 minutes
respectively. When the tank
was empty, the two pipes were
opened. After some time, the
first pipe was stopped and the
tank was filled in 18 minutes.
After how much time of the
start the first pipe stopped?

< ey fHet 3% = w20 fime qan 30
e § v %1 w4 ¥ @t @ o A1 T
I diel & e 21 HP a9 9eE el
gy S8 Y fod 9l © 99 oF 18 fate 5§
TS | el U Gen & R W
e W w fem s w2

(a) 5 minutes (b) 8 minutes

(c) 10 minutes (d) 12 minutes

YEAR: 2006

12 pumps working 6 hours a day
can empty a completely filled
reservoir i 15 days. How many
such pumps working 9 hours a
day will empty the same reser-
voir in 12 days?

12 99 yfafed 6 52 F19 W W 0F @
R 7 FRE F 15 i § @l @
¥ @ e 9y 9 =92 wfafes #m FW@ g0
et SR 12 fa | el w5 <97
(@) 15 (b)9 (o 10 (d) 12

A tap takes 36 houts extra to fill
a tank due to a leakage equiva-
lent to half of its inflow. The
inflow can fill the tank in how
many hours ?

2! & qell W BT A F FO OF T
forddt 2%t #1 w9 9 36 = 1 Affaa
T O € SafE BT K aEa A 9
et € @ A B W 9w W e
T R €2

(a) 36 hrs (b) 24 hrs
(c) 30 hrs (d) 18 hrs
236 |

22

23

24.

. A tank can be filled with water
by two pipes, A and B together in
36 minutes. If the pipe B was
stopped after 30 minutes, the tank
1s filled in 40 minutes. The pipe B
can alone fill the tank in
3 gy ferdt 251 U @ 9@ A @R
B % 91y fae#t 36 fiFe o ot 9
7% 30 fire =% Ew B #i % w fr
1 79 2R 40 fiee § e ) ey B
APl TH F FI e T H wm?
(a) 45 minutes (b) 60 minutes
(c) 75 minutes (d) 90 minutes

. Two pipes A and B can fill a wa-
ter tank in 20 and 24 minutes
respectively and a third pipe C
can empty at the rate of 3 gal-

IfA,BandC

are opened together to fill the

lons per minute.

tank in 15 minutes, find the
capacity of tank ? ¢
4 T A AR BUE U FEH A
20 & 24 fire & W@ ¢ sl dea Ry
C 2% # 3 Ter/fe & feue 4 @i
w3 81 9t A, B 3R C&i Uk @y @iel
fon s € @ 315 fire § e s 2
& F awa, F
(a) 180 gallons (b) 150 gallons
(c) 120 gallons (d) 60 gallons

. YEAR :2007
Three pipes P, Q and R can sepa-
rately fill a cistern in 4, 8 and 12
hours respectively. Anocther pipe
S can empty the completely filled
Which of

the following arrangements will

cistern in 10 hours.

fill the empty cistern in less
time than others?

i EY P,Q AR R SeTm-21 T Ih
F FHAN: 4, 8 23X 12 52 ¥ 9y wwa £
TF 3 Eell HE AN e S W 5
2 F 10 W F Wil W OTEA ¢
TarEn £ A § T w1 SE- % I
I F I T TR &7
(a) Q alone is open

(b) P, R and S are open

(c) P and S are open

(d) P, Q and S are open

25.

() 1200 1
26.

27.
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A tank has a leak which would
empty the completely filled tank
It the tank i1s full

of water and a tap i1s opened

in 10 hours.

which admits 4 litres of water
per minute in the tank, the
leak takes 15 hours to empty
the tank. How many litres of
water does the tank hold?

TH ZH W I T S w0 @ 4 & 10
= | @il #X ThaT ¢1 AR IF W
goT B A UF 9T 9 T S 2 H 4
ST %A SR F 2 weh w155
F GHATA T S BT 4T AAET
(a)2400 [ (b) 4500 [

(d) 7200 1

A boy and girl together fill a as-
tern with water. The boy pours 4
litres of water in every 3 munutes
and the girl pours 3 litres of water

in every 4 minutes. How much

time will 1t take to fill 100 litres of

water m the cistern ?

UF AH AN wgH we feawt e
21 F1 U § W 1 eEE 4 ol T
w3 e o awan € i wgdt 3ot
g w4 e o awdl €1 fead 99a
H 100 ==X 9t = § WX wmem?

(a) 36 minutes (b) 42 minutes

(c) 48 minutes (d) 44 minutes

YEAR: 2008

Three pipes A, B and C can fill
After
working together for 2 hours, C
is closed and A and B fill it in 7
hours more. The time taken by
C alone to fill the cistern is

1 99 A, B 3R C UF ZH1 F1 6 H
¥ o HEG € UF WY AR v w1
252 % =g CHl g =0 fean =, 9=
A @R B 7 5 F1 atfersh T9a @ )
C s&hell 39 2ot &l fhad Tw2 ® wim?
(@) 14 hours  (b) 15 hours

(c) 16 hours  (d) 17 hours

a cistern in 6 hours.
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30.
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YEAR : 2009
Three taps A, B and C together
can fill an empty cistern in 10
minutes. The tap A alone can fill
it n 30 minutes and the tap B
alone n 40 minutes. How long

will the tap C alone take to fill it?
7 7@ A,B 3fit C us wie faerat fpedt
el 2F1 #1 10 e § 3 994 8 9w
A aren 30 firz ® i 7@ B @isen 40
fie § 9% wha £ s e 99§
e C kel 2t HI

(a) 16 minutes (b) 24 minutes
(c) 32 minutes (d) 40 minutes
A tap can fill an empty tank in
12 hours and another tap can
empty half the tank in 10 hours.
It both the taps are opened si-
multaneously, how long would it

take for the empty tank to be
filled to half its capacity?

T T el ST H 12 5 § 9w & qe
A Fa o 2R w10 " § e
wl #1 afk <l el wouw " die
fom s ® @ @l FE F and am
a6 H @ 5HE 4 ey

(a) 10 hrs (b) 30 hrs

(c) 15 hrs (d) 20 hrs

A tap can fill a cistern in 40 mmn-
utes and a second tap can empty
the filled cistern mn 60 minutes.
By mistake without closing the
second tap, the first tap was
opened. In how many minutes
will the empty cistern be filled ?
TF 7o fF 2 @ 40 e | o ®
T 7 60 faee | @l o Z §1 e
T T H ag R o geen Ael Eie
fen 5 21 9ane frdd o § w2
9 T GHAT E?

(@) 72 m (b) 84 m

(c) 108 m (d) 120°m

Two pipes, P and Q can fill a cis-
tern in 12 and 15 minutes respec-
tively. Both are opened together,
but at the end of 3 minutes, P is
turned off. In how many more
minutes will Q fill the cistern ?

< qd P 3t Q Rl 2=t &1 wwwn: 12
e den 15 fae o ) g9d 21 3H ued
TF Wy E iy S § g 3 e aR
P %1 & & fa =i 81 sary Q g
foram =1 w9 feen smam?

32.

33.

34.

35.

1
(a) 7 minutes (b) 75 minutes

1
(c) 8 minutes (d) 81 minutes

A cistern 1s normally filled in 8
hours but takes another 2 hours
longer to fill because of a leak
in its bottom. If the cistern is
full, the leak will empty it 1n :

fel €1 @t 3 | "igmord: 8 e
F1 Tw @ 21 afea 23 1 aet o
BT BN F HAO 2 52 w1 afue 9g
T 31 Ak < g v w T B
feat ama o <F FH @t w122

(a) 16 hours (b) 20 hours
(c) 25 hours (d) 40 hours
YEAR :2010

Pipes P and Q can fill a tank in

10 hours and 12 hours respec-*

tively and C can empty it 126
hours. If all the three are opened
at 7 am, at what time will one-

fourth of the tank be filled?

wsd P 3R Q forell <o A gmmar: 10 a1
12% § aw ¥ Q)6 § urh
3l §1 AR A A U e e 7
aﬁ@aﬁm'm%a‘rﬁm% T T

T

(a) 10"am (b) 10 pm
(c) 11 pm (d) 11 am
YEAR : 2011

A tank can be filled by pipe A in
2 hours and pipe B in 6 hours.
At 10 am pipe A was opened. At
what time will the tank be filled
if pipe B is opened at 11 A M. ?
g A fdt ¥F #1 2 52 § o1 12y B
6 =2 ® e 81 gae 10 59 wed A H
dret fean s 81 afx e B w11 W
Wil fed S 9 3% fhed @S dh 98
ST

(a) 12.45 A.M.
(c) 11.45 A.M.

(b) 5 P.M.
(d) 12 P.M.

3
If —th of a cistern is filled in 1
minute, the time needed to fill
the rest is :

36.

3 4
uﬁ-;a?ifrﬁg qr 1 fiHe % w1 9 €,

dl = g Aam fEad ' § 9 sm?
(a) 40 sec (b) 30 sec
(c) 36 sec (d) 24 sec
A cylindrical cistern of diameter
25 cm 1s full of water. If 11 litres

of water is drawn off, the water
level in the cistern will drop by?

use m=—o
7

25 Hamdit = Jelt Ao 2 aE
§ oft & 81 fx 11 ofex ot et fomem
T e8] § A 1 R R F Em?

1 6
(a) 10‘2‘ cm (b) lQ;cm

s, 5 3
(c) 223 cm (d]gog cm

37.

38.
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YEAR: 2012

There are two pumps to fill a
tank with water. First pump
can fill the empty tank in 8
hours, while the second in 10
hours. If both the pumps are
opened at the same time and
kept open for 4 hours, the part
of tank that will be filled up 1s :

2 Yy forddt 29 = ot @ W 21 veen 99
el 291 F 8 W H R gmy 10 R
O #1 AfE A 99 E e w4
& & fow @er fean s, & < o fa
A SRS

Two pipes function simulta-
neously, a tank 1s filled in 12
hours. One pipe fill the tank 10
hours faster than the other.
How many hours does the faster

pipe alone take to fill the tank?
3 ey vF Wy el Y w129 W
T &) TEel IEY R e ¥ 10 R et
T A1 1 AR A § 9 AN Sy o
F fpad wma § w2

(a) 20 hrs (b) 18 hrs

(c) 15 hrs (d) 12 hrs

| 237
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40.

41.

42,
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Two pipes X and Y can fill a cis-
tern n 24 minutes and 32 min-
utes respectively. If both the
pipes are opened together, then
after how much time (in min-
utes) should Y be closed so that
the tank 1s full in 18 minutes?
3 Uy X R Y fRE 2t 5 w24
fire 3iR 32 firre # W wad §1 afk <A
uES F Wi fen §mod sae Y os
fr wwg @ a3 &= fen s fa 2t
18 fiqe & s wu?

(b) 8 mins

(d) 5 mins
Three pipes A, B and C can fill
a tank in 6 hours, 9 hours and
12 hours respectively. B and C
are opened for half an hour,
then A is also opened. The time
taken by the three pipes to-
gether to fill the remaining part
of the tank is :

7 urzg A, B 3R C et 2=t =1 Fav:
6, 9H2 3K 12 %2 § R THd €1 B
A C =i e =R F fau wen S oE
iRt A 71 ot @it faan i 21 2 & 7=
U 9 H A URET UE Wiy fHes
a3 ¥ fRaT @ efi?

(b) 2 hours

(a) 10 mins

(c) 6 mins

(a) 3 hours

1 1
(c) 25 hours (d) 35 hours

A pipe can fill a cistern in 9
hours. Due to a leak in its bot-
tom, the cistern fills up in 10
If the cistern 1s full, in

how much time will it be emp-
tied by the leak ? :

EY A UF E 1 9 H2 § Al 2LFH
I T A BT BH FH FR0T W HHH 10
=2 o B afy ol v ey @ aan
BT B F RO I A WY wedt
Bl Sef?

(@) 70 hours  (b) 80 hours

(c) 90 hours (d) 100 hours

Which of these pipes will empty
the pool fastest ?

ol &l dSlt | Wl HE dren 5y
HFq BA WL
(a) One pipe of diameter 60 m

hours.

(b) Two pipes of diameter 30 cm
(c) Three pipes of diameter 20 cm
(d) None of these

238 |

43.

44,

45;

46.

YEAR: 2013

A water tank can be filled by a
tap in 30 minutes and another
tap can fill it in 60 minutes. If
both the taps are kept open for
5 minutes and then the first tap
is closed, how long will it take
for the tank to be filled ?

T A UE U H 2 A 30 e H
4R o 7 60 foe ¥ o wEd B AR
A el = 5 i % for @ie f=ar s
2 fiFT Teel 1 A A% R S ar
70 ® 90 ¥ fean w19 e

(a) 20 minutes (b) 25 minutes
(c) 30 minutes (d) 45 minutes
Two pipes A and B can fill a tank
in 36 minutes and 45 minutes

respectively. Another pipe C
can empty the tank in 30 min-

utes. First A and B are opened.™

After 7 minutes, C is also
opened. The tank is filled up in
¥ WY A 3 B UF ¢F &1 w0 36
forz @em 45 foge § w T#a B o3
g C 2% & 30 fge #. @wi 52
Tehdl 81 el A 3 B®t Eel S
7 Tz =g C =1 ol wiiet faan sl 2, al
S forad T,

(a) 39 minutes (b) 46 minutes
(c) 40 minutes (d) 45 minutes
A tapdrips at a rate of one drop/
se€c, 600 drops make 100ml.
The number of litres wasted in
300 days is:

TF 79 9 U 93 9 Sve o fird
21 600 & foermt 100 fieieler s &
300 f& # fwar wiex aFl SR T

() 4320000 litres

(b) 432000 litres

(c) 43200 litres

(d) 4320 litres

Having the same capacity 9
taps fill up a water tank in 20
minutes. How many taps of the
same capacity are required to
fill up the same water tank in
15 minutes ?

TF UM &9d % 9 7 TF UHt Hi
ZH F 20 fe § e §1 wwwwEE
goal & fwad T 39 T # IR F
15 firie & s ¥%d 272

g

48.

49.
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(a).121 mins.

(a) 10 (b) 12
(c) 15 (d) 18
YEAR : 2014

A cistern is provided with two
pipes A and B. A can fill it in 20
minutes and B can empty it in
If A and B be kept

open alternatively for one

30 minutes.

minute each, how soon will the
cistern be filled. ?

< Wy A 3R B Zt # = g &1 uEd
A, 20 fie § war £ 2 u=w B, 30
iz & wrelt #3219 A @it B v
F THAH § H-F e F fom
wieh, Sl €, 99 21 foha gug o ai?
(b) 110 mins.
c) 115 mins. (d) 120 mins.
Two pipes A and B can fill a tank
with water in 30 minutes and
45 minutes respectively. The
third pipe C can empty the tank
in 36 minutes. First A and B are
opened. After12 minutes C is
opened. Total time (in minutes)
in which the tank will be filled
up is:

f e A 991 B wF I F w9 30
firz aen 45 fie § 9@ #) Uy C 2
1 36 faFe ¥ @refl &1 a1 21 Teet A
den B i @i T #R 12 fife & A
C & @ren 1 |, 9 Fa fFa o o
(fre ) 21 W Moty

(b) 24 min

(d) 36 min

A Pipe can fill a tank in x hours

(&) 12 min

(c) 30 min

and another can empty it in y
hours. In how many hours they
together fill it in (v > x):

UF TEY UF ZH Fi x ¥ § 9 GFar
® AR TEU 9y I iy W § welt
FT THA ¥, af e W F A uEw
e 291 w7 (3 o)

(&) (x —y) hrs  (b) (v =) hrs

Xy
x-Yy

Xy
(©) (  brst o) (e ) B
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50. Pipe A can fill a tank in 4 hours

51.

S52.

53.
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and pipe B can fill it in 6 hours.
If they are opened on alternate
hours and if pipe A 1s opened
first then in how many hours,

the tank shall be full?

g A 4 = H qon 9y B,6 ue o R
ZH F W FERA o AT F THE-UF =S
% fou @iet W@ § 3R 9e W eman
et ¢ 2 afs w2y A uge wen 9 2,
ql 2 frad g ® e S

1 2
(a) +—hrs (b) +—hrs
2 3

(c) 3 lhrs (d) 3 5 hrs

2 4
Pipe A can fill an empty tank in
6 hours and pipe B in 8 hours.
If both the pipes are opened and
atter 2 hours pipe A 1s closed,
how much time B will take to
fill the remaining tank?
2T A UF @ell 2% #1 6 542 § 9 9l
% 3R 99 B 8 € § 9T §Hal 81 4%
2T e T e W AT 2 62 A
ey A 92 &1 fem W, @ v ¥ 9w
¥ B =l fan wwa @rm?

2
(b) 23 hours

1
(a) 75 hours

1

2
(c) 23 hours (d) 33 hours

A tank has two pipes. The first
pipe can fill it in 4 hours and
the second can empty it in 16
hours. If two pipes be opened

together at a time, then the
tank will be filled in :

UF ¥F F I UEY e E) Teen gy sy
4 w2 W 9 w1 ¢ S gH0 39 16 5
& @l F wa & 9 <H T #uR
& g uE Wy wen A SF R
T W oq?

(b) 6 hours

1
(a) 55 hours

(c) 10 hours (d) 5"13',— hours
A pipe can fill a tank in 24
hours. Due to a leakage in the
bottom, it is filled in 36 hours.
If the tank is half full, how
much time will they take to

empty the tank?

54.

55.

56.

T UEY UF OF F 24 W0 H 9wl
2 aa | fam & R0 9% 36 52 H
W B AR TF S w0 ogen € A 59
from 9 3% 54 omg o =t B

(a) 24 hrs/=¢ (b) 48 hrs/=&
(c) 36 hrs/=¢ (d) 72 hrs/=&
YEAR : 2015

A water reservoir has two
inlets and one outlet. Through
the inlet 1t can be filled in 3
hours and 3 hours 45 minutes
respectively. It can be emptied
completely in 1 hour by the
outlet. If the two inlets are
opened at 01:00pm and
02:00pm respectively and the
outlet at 03:00pm then it will
be emptied at :

TF S@wE ¥ I gAY U & uE
T8 9129 €1 999 9E9 € T§ FH:
3 =2 3t 3 =2 45 foAe ® wwos
T &1 FrTE U B T ) g
T welt A S w2t S e
YA UEY HHY: ger 01:00 =%
#T 02:00 a9 wig fFUST qur
g arEn 1 FTeT 03:00 =9 wiE
We @ Fe fohad g9 Trelt v sem?
(a) 05:55 pm ' (b) 05:00 pm

(c) 05:20,pm  (d) 05:30 pm
Pipe A can fill the tank in 12
hours and pipe B can fill the
tarik in 8 hours. A third pipe C

_ empties tank in 15 hours. If all

pipes are opened together then
after 5 hours what portion of
the tank will be filled.

TET A ¥% &l 12 52 H &R Uy B &%
w1 8 He § 9 WHAl B U qHEY 9By
C 3% =i 15 =3 § @it 51 wwa 2
afe W TEY T W w@ie Ky S
552 § FF w1 A 9m W s

17 24
(@) 5% (®) 17

1 1
() 120 (d) 3

Pipe A can fill the tank in 8
hours and pipe B can fill it in
12 hours. If pipe A is opened at
7:00 am and pipe B is opened
at 9:00 am, then at what time
will the tank be full?

57.

58.

59.
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T ATF 5% H 8 H R TEHa £ iR
T B¥F w1 12 92 § W W T o
TET A g 7 : 00 7 @ S §
4t Ty B K gae 9 : 00 &1 @ell Sl
& A &% frad w9 9% qu en?

(a) 12: 00 PM (b) 12: 30 PM
(c)11: 48 PM (d) 12: 36 PM
Two pipes can independently fill
a bucket in 20 minutes and 25
minutes. Both are opened
together for 5 minutes after
which the second pipe 1s turned
off. What 1s the time taken by the
first pipe alone to fill the
remaining portion of the bucket?
T UEY UF 92l 1 FAY: WaA T 9
20 fiFFe iR 25 fire o o Tt 21 =3
E 1 UF WY Tl S # 3R 5 e
A% T IZY i W5 S 21 Aweet

h 39 A H 9 & e 9gedl aEY g/

fepa W fomn smam?

(a) 11 min/fFe (b) 16 min/fiae

(c) 20 min/fFe (d) 15 min/fiTe

A water tap fills a tub in 'p’
hours and a sink at the bottom
empties it in 'q' hours . If ' p<q
and both tap and sink are
opened the tank is filled in 'r’
hours; then the relation be-
tween p, q, r 18!

UF U F1 A fFE eE i p mue H
R FTFA § AR A o fEw w9 g
ou2 H wrel #3021 p<q I @R T
5 i 2 el & df 24 ¢ =/ am,
T p,q,r H T waEd?

I 1 1. 1 1
@ STt B
() r=p+q (d 7
Two inlet pipes can fill a cis-
ternin 10 and 12 hours respec-
tively and an outlet pipe can
empty 80 gallons of water per
hour. All the three pipes working
together can fill the empty cistern
in 20 hours. What is the capacity
(in gallons) of the tank?

& A UF FHI FH FHA: 10 FA1 12 =S
H o T € 3R U R e T TR
e § 80 oM 9HT Wielt L Tl ¢ Th
|9 A A @l ZE H 20 HE F O\
TFd 1 F e (e ®) #7e?
(a) 360 (b) 300

(c) 600 (d)900

|’ 239
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60. 3/4 part of a tank is filled with

61.

62.

info@spardha.guru

oil. After taking out 60 litres of
oil, the tank is 2/3 part full.
What is the capacity (in litres)
of the tank?

TF H H 3/4 G0 I W qU A 2
60 wltet Tt FeTe oR % 9% 261 %1 2/3
9T S e €1 R B e (et #)
0 Bhi?

(a)240 (b) 360

(c) 600 (d)720

Two inlet pipes can fill a cis-
tern in 5 and 6 hours respec-
tively and an outlet pipe can
empty 24 gallons of water per
hour. All the three pipes work-
ing together can fill the empty
cistern in 10 hours. What is the
capacity (in gallons) of the tank?
T T TH TR I OHAY: 5 T 6 A H
W T § AR e Ao v we H
24 e Ut @l #9121 UF |iY
A A @ 2t F 10 He W 9 gEd
g1 2F 1 aman (Tem ) F @2
(a)90 (b) 180

(c) 60 (d)120

Two taps A and B can fill a tank
in 10 hours and 12 hours re-
spectively. If the two taps are
opened at 10 a.m., then at what
time (in p.m.) should the tap’A
be closed to completely fill - the
tank at exactly 4 p.m?- :
ARG B,qmz‘mﬁ%‘im: 10
den 1292 § oy wHd w1 A S el
F 10 @ gag @ e S, qt dte
4 9t vIH I 2 H 90 w1 F foe T
A Fi foa ==t 95 & 3 =feu?
(b)3 pm

(d)1:30 pm

(a)2 pm
(c) 1 pm

240 |

63. TwopipesAandBcanfillatank 66. 6/7 part of a tank is filled with oil.

64.

65.

in 20 hours and 24 hours respec-
tively. If the two pipes opened at
5 in the morning, then at what
time the pipe A should be closed

to completely fill the tank exactly
at 5 in the evening?

W A A Tl B, TR ZH F OFA: 20
A 24 W2 H o wEA E) AR A A
F S F 5 T @ femn S oA o
3 5 =9 2 FH W T F fom e A
F Fd 95 HL oA Afew?

(b)2 pm

(d)11 pm

4/5 Part of a tank is filled with
oil. After taking out 42 litres of
oil, the tank is 3/4 part full.
What is the capacity (in litres)
of the tank?

TF 2 F 45 9 q9 ¥ 90 g R
42 et de1 Free 3 & AReR F
3/4 I s Te T ZHFL A (e
) = i &
(a) 420

(c) 840

(a) 3 pm
() 1 pm

/(5630
(1680
Two ilet pipes can fill a cistern

in 20 _aiid 24 hours respectively
and an outlet pipe can empty 160

- gallons of water per hour. All the
‘three pipes working together

can fill the empty cistern in 40
hours. What is the capacity (in
gallons) of the tank?

T AT TH FH F FA 207 24 =L
#  wwd ¥ o ek Fre T@ o
F 160 e gF | F YA T T
e T T @l I 40 HEH R
Fhd &1 T F e (e §) -

(a) 1200 (b)2400

(c) 3600 (d) 1800

67.

68.
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After taking out 60 litres of oil the
tank 1s 4/5 part full. what 1s the
capacity (in litres) of the tank?
TF FH 6/7 W dA ¥ T I 60 TR
de el @9 % 9| 2 ® 4/5 9T
TE ©1 EH I e (e W) woe?
(a) 350 (b) 700

(c) 360 (d) 1050

Pipe A can fill a tank 1n 12

hours and Pipe B can fill the
tank in 18 hours. If both the

pipes are opened on alternate
hours and if pipe B is opened
first, then in how much time
(in hoars) the tank will be full?
Y A TH TR FI 12 T H A FwHA
2 7o TEY B 36 251 #1 18 5 H W

B E I I A e 1 e e e e e e

TH-UF 52 & fou @ien s 2 e
afs 9E9 B 1 9g¢ @ien 9l €, o
2o foaw |HT (5 §/)9on?

1 1

a) 14— 16—
@147 ©)167
1 1
14— 12—
@145 @127

Two pipes A and B can fill an
empty tank in 10 hours and 15
hours respectively. Pipe C alone
can empty the completely filled
tank in 12 hours. First both pipes
A and B are opened and after 5
hours pipe C1s also opened. What
is the total time (in hours) in
which then tank will be filled?

= ¥ A 91 BUF TRl S T HEE:
10 =2 @en 15 52 ¥ 9 §Fd € T
C o%al T& W g o H 12 % H
W FX FEA T Tee [ TR A Tl
B &1 @i 1 § 941 5 69 9% Uy C
w TN S T IF wHE R @
(a2 #) wom?
(a) 7

(c)9

(b)S
(d)8
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‘4 answeR KEY “F

1. 8. (d 15. (d) 22. (d) 29. (c) 36. (c) 43. (d) 50. (b) S7. (8 64. ()
2. [ 9. (¢ 16. (a) 23. (¢ 30. (d) 37. (a) 44. (b 51. (d) 58. (b) 65. (b
3. (o 10. (d) 17. (d) 24. (d) 31. (d) 38. (a) 45. (d) 52. (d) 59. (¢ 66. (d)
4. (M) 11. (b) 18. (d) 25. (d) 32. (d) 39. (b) 46. (b 53. (o) 60. (d) 67. (o)
5. (9 12. (d) 19. (b 26. (c) 33. (b) 40. (c) 47. () 54. (c) 61. (a) 65. (a)
6. (M 13. () 20. (o) 27.1a) 34. (c) 41. (c) 48. (b 55. (a) 62. (b)

7. [ 14. () 21. (a) 28. (b) 35. (a) 42. (a) 49. (d) 56. (d) 63. (a)
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